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1. Fo'r_g function f(x, y), if fx and f, both exists at (1, 2)then for any unit vector u = (a,b),

Duf(1,2) = fu(1,2)a+ f,(1,2)b.
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2. Consider f(xy, x3, x3).
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D, (_f) = f when v =(0,1,0).
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3. If f(xy (1), x2(1), - xn(t% f(r(t)) is a function of n variables, and each variable x; is a function of t. Then

/>><*t .f = V()7 (t0). v(4) = o curve
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4. What is the gradient vector of

f(x,y,2) = x2y* + cos(z + y*) — 7xz?
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5. Find the directional derivative of
g(r,0) = r* —rcos(46)

in the Cartesian direction of (=1,0) atr = 3,6 = 2.
9 > R xﬁrw‘%
§ . Zr S\n
9((,@')7'{({(/05 /Y$W\G> \6
Ci

R T 5 AR
xr 3); a‘obf Y4W1
) YT )+t -«

TR AT

r.?’/-ﬁ :r(/ﬂ%?f-'g'me90

~
=
P/
s
&
S

4 . + L wpt/ime
W V“}‘ g nuwtesy 4T3 "

Anlang oved /6‘}1&/%2&/»




